:5,00m

Paametka Ha yyacTke:
1.25:20,00 m

1.14.1

4003m

R

604

570
4,00

2817m

R

I/1 4

507

387

rAApamune, yn.TekCTUNbLMKOB
750

=105m
1; a=46°

R

P

272

5,00

wupuHa 2m, a/6, 20 - 275

600

22
=]

OnemeHTbI AOpOTY
B NpofonbHOM npodune
KpvBble B nnaHe
XapakTepucTuku
npoeaxen Yactu
BugumocTs aBTomobunsa
B NPSMOM HanpaeneHun
lopusoHTansHas
[opoXHas
pa3smeTka cnesa
[lopoxkHbIe orpaxaeHus n
Hanpasnswle ycTpoiicTea
no ocu
Tpotyapsl cnesa

M 1:2250

0 Kkm + 747 m _

aucm 50

_— N
WAZE: +747

= Be09dgBLIO BTMUA LA ( ynuua OkTabpbekas

1'e ow (ogs+)— T ‘Ewe‘q 24
\ ~

N .
6 o Z
Ve @ {sg9+)———= 1> ves0p <15 @v 13
N )
N =

lasonposop(h-4,50)
i SZ9+ @

XA (019+)— =
_—
09+,
—_——————

viaHhndgeg youkadau

N 1
B
A 0S5+
e (0s6+) —8= =
_—
GESGH,

sexonanwdeoHoedy enuui LA
&

. ) ‘ A
¥ @ (svv+) < (440 EL @v 13
o .

[asonposog(h-4,50) 440
ESEEEERERERER+435
———® +430 Cwesn
-
e > (06€+) ﬂ;
08¢+,
4 )
esgourrdes) enuuA | & (+370)- 7 25
2 -
~ ,
®

ynuua Kypuatosa
+28

—_—

Glz+
- (+270) 2.1
=®

— — — — — = T

G @ (0sz)”

19doat og

~(Spz+)

1adosi’ og

adostt og —_— w02) @ le=s

—® +95 ‘

orAlE @ —H0p+t—————

1 @ 3.24
- = e —— 1

vTe ZARA 9+) m Cuean - (+25) ¢6b

(0
g CG G e T i + 45

747m

ov
-67 uueian

\W% oty

ge'L STl
9

— VrLLL oL T 46908

1619 Szl STl [ |
7 Mm : : 45— (+15)— 5.20
= . STl STk +10
- o DA

ynuua 1 Mas

m Okm+0m u
1

HanpasnswLue ycTpoicTea
cnesa

Hanpasnawuwue yctponcrsa

cnpasa

Fopu3oHTansHas
[LopoXHast

pasmMmeTka cnpasa v OT ocu
[lopokHble orpaxaeHus 1
[loposkHble orpaxaeHus 1

TpoTyapsl cnipasa




